2870y 7—hy7

2025528 12H
WPAX  BEL&K—0 2 3 4 5 6 8 10 11 12 13 14 18 TEEEI L7 a—2
WAz & & PRl =X 1 -2 '3 4 "5 6fo7 8 "9 QUT 10 11 12 f3 14 5 M6 17 18 TotAL HD NET & |
1 |80 £8F & | IN 9(6|3|5|5|5|3|4|6|46| 46 | 12 | 34 |fmms LmEm
2 | KR £ | B | IN 5(4(3|4|4|5|2|4|5|36]|36| 1.2 34821k
3 (T KE|B|IN 6(5|3|5|5|5|3|4|6]|42]| 42| 7.2 348|314
4 |#ih BA| B | IN 7/3|4|5|4|4|3|5|6|41])41| 6 | 35 |41
5 (B ¥ | B IN 6(4|3|3(5|5|3[4|6|39]|39] 3.6 |354]|5f
6 |[A4& IEE| B | IN 7!3|3|5|5|5(3|4|4|39| 39| 3.6 |354]|6f
7 |=H Bth| B|OUT|4|4|4|4|3|5|4|6|4]38 38 | 2.4 | 35.6 | 71i
8 (P | B |OUT|7|5|7|7|4|10/4]|6|4]54 54 | 18 | 36 |8fi
9 |#E E=| B | IN 412|3|3|4|5|3[4|6/|34]|34]-24]|36.4|91B.G.
10 |/MKk FHT| B | IN 6({3(3|4|5|5|4|4|6|40| 40 | 3.6 | 36.4 |10f
11 | #%E EB| 8| IN 5/4|3|4|5|5|3|5|6]|40| 40| 3.6 | 36.4
12 |F%EF EB| 8| IN 7|5(4|5|4(6|3|5|7|46| 46| 9.6 | 36.4
13 |%FMEE #Zz| B |OUT|4|4|4|7|4|7|5|6]|5]46 46 | 9.6 | 36.4
14 | &% #42 | B | IN 8/4|5|6|5|6|3|6|8]|51|51|14.4/36.6
15 |0 M@ B | IN 5/3[3[4|4|6|3|4|6|38]| 38| 1.2 |36.8 |15(&
16 |HF | 2| IN 8|5(3[4|5|6|2|6|5]|44| 44| 72368
17 |MHE EE| 8| IN 6|3|4|5|5|5|4|5|7]|44| 44| 72368




270y 7—hy 7
2025FE2H12H

WPAR [BLEF— 2 3 4 5 6 8 10 11 12 13 14 18 TEEEFIN7 a—X
K % - MHila—x 1 2 38 9 OUT 10 11 12 13 14 15 16 17 18 IN TtotAL HD NET &

N It

18 |G &=| 2| IN 6(3[3|4|4|5|4|4]|4|37] 37 37
19 |fEfE MEF| % | IN 6|3|4|4|5|6|3|5|6|42]| 42| 4.8 1372
20 |¥%%F WM | B |(OUT|5|4|6|5|4|9|5|5|5]48 48 | 10.8 | 37.2 |20fx
21 |BF M| B | IN 8|4|3|6|5|7|3|5|7|48]| 48 |10.8]|37.2
22 |[EIF tREB| B | IN 6|4|3|4|4|6|4|4|6|41| 4136|374
23 | BB B | IN 6|3|3(6|4|5|4|5|5[41| 41| 3.6 |37.4
24 |RE #ktl| 5 |OUT|5|4|5|5|4|6|5|8]|5]47 47 | 9.6 | 37.4
25 %% B-—| B |OoUT|5|5(3|7|6|7|5|9]|6]53 53 | 15.6 | 37.4 |25(i
26 |80 FRfT| 2| IN 5/5|3(4(4|5|4|5|5|40| 40| 2.4 |37.6
27 | B8R #EE| B | IN 4|13|5|4(5|5[4|5|5|40| 40| 2.4 |37.6
28 | 8% ®#— | B |OUT|6|4|5|5(5(6|4|6]|5]46 46 | 8.4 | 37.6
29 | 7 MBI | B |OUT|5|4(5|6|3|7|5|6]|5]46 46 | 8.4 | 37.6
30 | A% %47 | B |OUT|5|4|7|6|2|7|5|5]|5]46 46 | 8.4 | 37.6 [30fi
31 | M MF| % |OUT|5|5(4|5|4|6|5|6]|5]45 45 | 7.2 | 31.8
32 | kB EM | B | IN 8|4 |3|5(4|6|4|5|6|45|45] 7.2 378
33 | B¥F K| B | IN 7|4(3|6|5|6|4|5|5|45]| 45| 7.2 |37.8 |33
34 | AH B | B |OUT|5|4|5|4|3|5[5|8]|5]44 44 | 6 | 38




2R7RAY7P—hy7
2025E2H128

WP AR [ELEF— 2 3 4 5 6 8 10 11 12 13 14 18 fEEEIN7a—-X
Bz K #& 5 3—X 1 9 OUT 10 11 12 13 14 15 16 17 18 ToTAL. HD NET &

35 |3k MF| & | IN 5(3|4|4|6|6|4|5|7|44| 44| 6 38 |35 |
36 | AAfR H#t B | IN 7144|5373 |5|6|44]| 44| 6 38

37 |9l W—BB| 5 |OUT (5 (4|4|4[4|7|5|6]|5]44 44 | 6 38

38| Jlitg8 8 | B|OUT|6(4|6|7|4|6|6|7|4]50 50 | 12 | 38 |

39 | Rk ME| B | IN 6133|6564 5|5|43| 43| 4.8 |38.2

40 | B5H B2 | B |OUT|6|4|5|4|3|6|5(6|4]43 43 | 4.8 | 38.2 |40fi
41 | #6M 2= | B |(OUT |6 |4 |5|4|4|5|5|6]|4]43 43 | 4.8 | 38.2

42 | &M fEE= | B | IN 7141454 (4(5|6|4|43| 43| 4.8 |38.2

43 | 2w =Z | B | IN 6|14(4|7(5[6|3|7|7|49| 49 |10.8]38.2

44 | FH | B | IN 6|4/4/6|7|6|5|5|6/|49| 49 |10.8]38.2

45 | A% =2 | B | IN 513|2|5(6|7|3|5|6]|42| 42 | 3.6 | 38.4 |45f
46 | AR 2E| B | IN 6/3[3|5[5|6|4|5|5|42| 42| 3.6 |38.4

47 | REF BF | Z | IN 6(4(3|4|4|6|4|5|5|41| 41| 2.4 |38.6

48 | &BH 1EEL | B | IN 6(4|3|4(4|514|6|5|41| 41| 24 |38.6

49 | =5 &k | B | IN 5/3|3|5(4|6|4|5|6|41| 41| 24 |38.6

50 | Mk =5 | B |OUT|5|3|5(6|3|6|6|8]|5]|47 47 | 8.4 | 38.6 |50z
51| /A1E F=F| B | IN 6(4|3|6(6|7|4|5|6/|47| 47| 84 | 38.6




2878 7—hvy7
2025E2812H

WP 7= ELE—n 2 3 4 5 6 8 10 11 12 13 14 18 fEEEINLT7I=R
B & iRl er=or 1 808 S8R & 9 OUT 10 11 12 13 14 15 16 17 18 IN TotAL HD NET &

&Sz

52 |AM BFETF| X 754|547 |4|5|6|47| 47 | 84 |38.6
53 (ks &E5| %5 (OUT|(5(|3|5|5|4|6(5|8]|6]47 47 | 8.4 | 38.6
54 |¥H BB | B |OUT|5(4|6|6|4]|5|6|6]|5]47 47 | 8.4 | 38.6
55 | #&xH %2z | B | IN 714134 (7|6|4|6|5]|46| 46 | 7.2 | 38.8 |55k
56 (k47K HEE| 5 (OUT (6|4 |4|4|4|7|4|6|6]|45 45 | 6 39
57 | BRIF 3 | 35 | IN |6|(4|4|5|5|6|4|6|5|45|45]| 6 39
58 | HFF AE | B | IN 615|5(4(3|7|4|5|6|45|45| 6 39
59 (@ AWi| 35 |OUT|6|3|4|6|3|7|5|6|5]45 45 | 6 39
60 | A& BX| B | IN 6|14|3|5(5|6|3|7|5]|44]| 44 | 4.8 | 39.2 |60
61 |8 H&k| % | IN 6|13]3[5(5(6|4|6|6]|44]| 44 | 4.8 |39.2
62 (WSH EPA| 5 |OUT|(5(3|4|4|4|6|5|7]|6]44 44 | 4.8 | 39.2
63 | AKX F2| B | IN 644|546 |5|5|5|44| 44| 4.8 |39.2
64 | #HE HE—| 5| IN 6|14|4|(7(5(8|4|5|7|50| 50 |10.8]39.2
65| FL —ZF | 5B | IN 614|3|7(4({8|3|6|8|49]| 49| 9.6 | 39.4 |65
66 | #4& % | B |OUT|6|4|4(6(4|7|5(7]|6]49 49 | 9.6 | 394
67 | LB %—Bf| % |(OUT|5(5|5|6|6|8|5|7|8]55 55 | 15.6 | 39.4
68| % f#tw | B |OUT|6|7|5|6|3|5|5|6]|5]|48 48 | 8.4 | 39.6




287y 7P—hy7

2025%2A12H
WP AL f2LEF— 2 3 4 5 6 8 10 11 12 13 14 18 EEEINT7a—2

Bz K % 4 5 6 7 8 9 OUT 10 11 12 13 14 15 16 17 18 IN TotAL HD NET ¥

Bl EE | B 5(3[5|5]|5 41 | 1.2 | 39.8
70 | FH =EHS | B | OUT 5/4|6|4|6 47 47 | 7.2 | 39.8 |701i
71 | #f®R EZ | B | IN 7/4(3|5(5|6|5|6|6|47| 47 | 7.2 |39.8
2 1R 1B& | B | IN 8(3(3|4|5|5|5|7 7|47 47| 7.2 |39.8
3|8 REB| B | IN 6(4(3|6|5|8|4|5|6|47| 47 | 7.2 |39.8
74| LR F | B | OUT 6|4(6|4|6 47 47 | 7.2 | 39.8
75 | ¥tk FE | B | OUT 6(2(6|5]|7 46 46 | 6 40 |75
76 | R&Nl & | B | OUT 6|4(6|6|7 52 52 | 12 | 40
7 | EW B | 8| IN 6(5(4(4(4(7|4|16|4|44)| 44| 3.6 |40.4 |77z
78 | /it FEIT | B | OUT 514(6(7(8 50 50 | 9.6 | 40.4
79 | Bk EXR | B | OUT 637|557 50 50 | 9.6 | 40.4
80 | &AM &R | B | IN 5(4|13|4(6|6|5|6|4|43| 43 | 2.4 | 40.6 801
81 &M =¥F % | IN 7/413|6|5|7|5|6|6|49| 49 | 84 |40.6
82 | hEk #B | B | OUT 513|678 53 53 | 12 | 41
83 | Kl &5 | 5 | OUT 7141667 53 53 | 12 | 41
84 |3k HEFF| & | IN 11/415|6|6|9(4|6|8|59| 59| 18 | 41
8 | HH IE—| 5| IN 9(3(5(8(6[9|4|6|9|59|59]| 18 | 41 |85fk




2870V 7P—hv7
2025%F2H12H
WPAZ PELFm—I 2 3 4 5 6 8 10 11 12 13 14 18 ftEEINLN 73—

IRGE = B & Rl =X 1" 2 OuT 10 11 12 13 14 15 16 17 18 ToTAL. HD NET &
=E B | B 44 | 2.4 | 41.6

87 | iR BHME | 35 |OUT (6 |5(5(4|4|6|5|5|8]48 48 | 6 42

88 (& FEAF %= | IN 84|46 (4|9|6|5|11|57| 57 |14.4| 426

89 [/ME fARF| & |OUT | 5| 6 ‘5 A414|7|7|8|9]|55 55 | 12 | 43

| KhE R¥| B | IN 8(4(4(9(9|6|5|7]|9|61(61| 18 | 43 |90fi

91 | E& EHE| 5 |OUT|(6(3|5|6|4|8|7|7|8|54 54 | 10.8 | 43.2

92 | MR Bk | B | IN 613(3(4(5[{6|6|8|5|46| 46 | 2.4 | 43.6

93 | BElR &k | B | IN 5|13|3|5|5(5|7|8|4|45| 45| 1.2 | 43.8 |B.B.

94 | =% A& | B |OUT|7|7|5(7|3|7|6|7]|9]|58 58 | 13.2 | 44.8 |B.M.




